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QUESTION 1

Throughout its lifecycle, an asset\\'s disposition changes as it is moved between locations and service statuses.
Which are valid asset dispositions?

A. Receiving; Installed; Storage; Retired

B. In Receipt; In Field; In Stores; Retired

C. In Receipt; Installed; In Stores; Retired

D. Receiving; In Field; Storage; Retired

Correct Answer: B

QUESTION 2

Your customer\\'s initial measurement data (IMD) has been imported and can be viewed through the Measuring
Component portal, but is not in the "Final" measurement status.

What can you assume that the IMD has passed?

A. Critical Validation

B. Multiplier Check Validation

C. Sum Check Validation

D. Critical Validation, High/Low Check Validation, and Sum Check Validation
E. High/Low Check Validation

Correct Answer: B

QUESTION 3

At what stage in the initial measurement data (IMD) import process will the application of meter multipliers be
performed?

A. Critical Validation
B. VEE

C. Prepare for VEE
D. post-VEE
Correct Answer: A

Reference: https://docs.oracle.com/cd/E18729_01/pdf/E18293_01.pdf(78)
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QUESTION 4

Which three statements are true about usage subscriptions? (Choose three.)

A. A usage subscription can have either parent or child service points.

B. A usage subscription can be configured to include only a portion of a service point usage.
C. A usage subscription can have many service points.

D. Usage subscriptions are always related to an account.

E. A usage subscription can have only one service point.

Correct Answer: ACD

Reference: https://docs.oracle.com/cd/E38983_04/PDF/MDM_Configuration_Guide_v2_1_0_3.pdf (227)

QUESTION 5

How many service agreements are linked to a severance process?

A. all service agreements that are connected to the initiating overdue process
B. one

C. any number defined by the business user

D. zero - accounts are linked to severance processes

E. all service agreements that are connected to the initiating collection process

Correct Answer: C
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